db below full scale

hr of day

151029 on Antenna. Blowup. synth drive amplitude
T I B L
- X1 tx2 X3 tx4 x5 ix6 E
SRS
i S ST —— MK S o
5 \ \ \ \ L

12.8 13.0 13.2 13.4 13.6



151029 on Antenna. Blowup. synth drive amplitude

tx1 tx2 tx3 tx4 tx5 tx6

db below full scale

= =

Ex =

:\ Il Il ‘ Il Il Il Il Il Il Il Il Il ‘ Il Il Il Il Il Il Il Il Il ‘ Il Il Il Il Il Il Il Il Il ‘ Il Il Il Il Il Il Il Il Il ‘ Il \:
13.7 13.8 13.9 14.0 14.1

hr of day



db below full scale

151029 on Antenna. Blowup. synth

drive amplitude

I
tx1 tx2 tx3 tx4 tx5 tx6

; ch moves za 8.834 to 0 deg %
é Rf on E
= chtp |- |- MY N
E \ \ \ E

15.08 15.10 15.12 15.14

hr of day



db below full scale

151029 on Antenna. Blowup. synth drive amplitude
T \

tx1 tx2 tx3 tx4 tx5 tx6

N

"v

%%%%%

%%%%%%%m

.-AP 4>.-A> 4>.-A> 4>.-A> 4>.-A> 4).-‘0 4>.-A> 4>.-AP 4>.-A> 4>.-A> 4>.-A> 4.-A> 4>.-A> 4>.-A> 4}.-‘0 4>.-A> 4>.-A> 4>.-A> 0.-‘

15.275 15.280

15.285
hr of day

15.290

15.295



db below full scale

151029 on Antenna Blowup synth dnve amplltude

tx1 tx2 tx3 tx4 tx5 tx6

15.34 15.35 15.36 15.37
hr of day



db below full scale

151029 on Antenna. Blowup. synth drive amplitude

o \
= tx1 X2 X3 tx4 x5 %6

é Rf on

% 7\Ch tp N | ' |
E . |- B ‘\ -

15.380 15.385 15.390

hr of day



db below full scale

151029 on Antenna Blowup synth drlve amplltude

E I \ \ ]
ot Il tx2 *er tx4 tx5 tx6 3
0 ZO I3 020 TE020 )20 T 070 T )20 T ) S0 ) S ) 00 $E——
10 =
20 - E
30 - E
40 - E
50 3
60 S
= _ - | N . L _ _ 7 _ n 4\7 =
15.440 15.445 15.450 15.455 15.460

hr of day



151029 on Antenna. Blowup. synth drive amplitude

X6

t

tx1 tx2 tx3 tx4 tx56

I

X

L0
P20
b0
A
pIo
A
A
P
A
P20
X
A
A
P
A
A

DI

15.470 15475 15480 15.485 15.490 15.495

15.465

hr of day

o o o o o
N N ? ¥

9|eds ||n] mojeq gqp



db below full scale

151029 on Antenna.

tx1 tx2 tx3 tx4 tx5 tx6

Blowup. synth drive amplitude

15.500 15.505

hr of day

15.510 15.515



